EARAZROREIERT — 2 N—XBISY —F 201556821H (H) 7E£R1H

m38—4 B4 5% 3% B I
[AE4£] 1 7% :200,000™ ~ 237%&:40,000” ~ 337%&:18,000 M . 43&:14,000 537 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N s BIIRTF :31. -1-1- . — EERE (£R)
111l *vy=booa9 e E 1(3_1)4 B ‘ :1512) *REEF
RN TZEITT AL BiRALIRYYaY NPEWI:: = A PELL
o S N HEH :32. —-3-2- . — aiske (£iR)
5 Al vanrusr- 4 3 e 1(362)6 3-32-2 | 39.9 1 tg? Eh
L:TZ27L 48— B:ovAFTN=h Fo e
o e KEH : 03— — Iz (£R)
3 3| 75FFY 12K i 3 S 1.(363).8 2-2-3-3 | 40.9 2 (4_196) e
R:FFHATFFd B/ RNy TS5T HET7—L4L
D B P . e — BARR (2R)
al5l5 | 7HEFT5 4 3 < 1(.13/32.)9 5-5-5-5 | 39.8 9 (4_373; aas y
R:TF7vI4K—0 B:RK—-/X3I> FE %R
o — FEREKA :34. —6-6- . — BEEMRE (&R
A BEEEEY x o | 2B g | e [me) - e | s mER
RZFAT—IE BIU—IITE— EvJLyRT7—L4
A N shEg® .34 7 . — BREBRE— (£IR)
6178 Yo —RKyy— 43 56?0 1(/:\3;)2 8-7-7-7 |39.3 10 (4_832) i
R:TSyok—0 B:IRS—TUYU— SRS
RYIRY I RHE 134, —4—4— . - BARARR (£2R)
2 NENVADEE i 3 S 1(324>6 3-4-4-4 | 41.0 5 <3+756) e
A T74A47 B:OAFRAIAN inpkiec)
. 3 > 3| WAKX— 1:34.7 7-7-8-8 | 39.5| — 6 440 | DNEERDZE (£IR)
glzl7|H>7L17 - 56.0 (3/4) (-1) |PABER ’
L:TVvAT7>byh— B:box0F1— HRSHE 74X
NN . = 35BN :36. -10-9~ . — SARK (£IR)
olglig) A b1 —5 3 BElELE 1(35)5 10-10-9-9 | 40.1 8 zzg; Brsx
T2 84— BRVEHT4—F & RS
5 4 3 | BUIER 1:38.1 9-9-10-10 | 41.5| — 7 440 | HAE (£R)
10)8/9| 7/ /7L 5.0 ® 4s) | 77— hEVar
LNAT =4 =L B:¥xxiNn—t AR BE
® 1—F—@EBIERL
1T=7r= 1,3,(4,6),5,2,7,8,9,10
23—74— |1,3,4,6,5,2,(7,8),9,10
Ja=5= 1,4,3,6,5,2,8,7,10,9
43—+ — 1,4,3,6,5,2,8,7,10,9
[ N5
B 1 590H 714K 1-4 210 e E 1-4 370 JEE 1-3-4 490M
B B 1 170 =3 4104 e B 1-4 1,470 JEE 1-4-3 3,770
4 1004 3-4 170H B & 1-4 430M
3 140/ B H 1-4 1,260M

ABICOVWTRDTEEERROODE. TR LIV,



